

a)  $\chi_+^{(\alpha)} = \begin{pmatrix} \frac{1}{\sqrt{2}} \\ \frac{1}{\sqrt{2}} \end{pmatrix} \quad \lambda = +\frac{\alpha}{2}$

$\chi_-^{(\alpha)} = \begin{pmatrix} \frac{1}{\sqrt{2}} \\ -\frac{1}{\sqrt{2}} \end{pmatrix} \quad \lambda = -\frac{\alpha}{2}$

$\chi = \begin{pmatrix} \cos\left(\frac{\alpha}{2}\right)e^{i\gamma B_0 t/2} \\ \sin\left(\frac{\alpha}{2}\right)e^{-i\gamma B_0 t/2} \end{pmatrix}$

$C_+^{(\alpha)} = \chi_+^{(\alpha)\dagger} \chi = \frac{1}{\sqrt{2}} (1 \ 1) \begin{pmatrix} \cos\left(\frac{\alpha}{2}\right)e^{i\gamma B_0 t/2} \\ \sin\left(\frac{\alpha}{2}\right)e^{-i\gamma B_0 t/2} \end{pmatrix} = \frac{1}{\sqrt{2}} \left( \cos\left(\frac{\alpha}{2}\right)e^{i\gamma B_0 t/2} + \sin\left(\frac{\alpha}{2}\right)e^{-i\gamma B_0 t/2} \right)$

$P_+^{(\alpha)}(t) = |C_+^{(\alpha)}|^2 = \frac{1}{2} \left( \cos\left(\frac{\alpha}{2}\right)e^{-i\gamma B_0 t/2} + \sin\left(\frac{\alpha}{2}\right)e^{i\gamma B_0 t/2} \right) \left( \cos\left(\frac{\alpha}{2}\right)e^{i\gamma B_0 t/2} + \sin\left(\frac{\alpha}{2}\right)e^{-i\gamma B_0 t/2} \right)$

$= \frac{1}{2} \left( \cos^2\left(\frac{\alpha}{2}\right) + \sin^2\left(\frac{\alpha}{2}\right) + \sin\left(\frac{\alpha}{2}\right)\cos\left(\frac{\alpha}{2}\right)(e^{i\gamma B_0 t} + e^{-i\gamma B_0 t}) \right)$

$= \frac{1}{2} \left( 1 + \sin\frac{\alpha}{2}\cos\frac{\alpha}{2} (\cos(\gamma B_0 t) + i\sin(\gamma B_0 t) + \cos(-\gamma B_0 t) + \sin(-\gamma B_0 t)) \right)$

*Annotations: invert minus signs, Euler's formula disappears, take outside sine*

$= \frac{1}{2} \left( 1 + 2\sin\frac{\alpha}{2}\cos\frac{\alpha}{2}\cos\gamma B_0 t \right)$

$= \frac{1}{2} (1 + \sin\alpha \cos\gamma B_0 t)$

b)  $\chi_+^{(\gamma)} = \frac{1}{\sqrt{2}} \begin{pmatrix} 1 \\ i \end{pmatrix}$

$C_+^{(\gamma)} = \frac{1}{\sqrt{2}} (1 \ -i) \begin{pmatrix} \cos\frac{\alpha}{2} e^{i\gamma B_0 t/2} \\ \sin\frac{\alpha}{2} e^{-i\gamma B_0 t/2} \end{pmatrix} = \frac{1}{\sqrt{2}} \left( \cos\frac{\alpha}{2} e^{i\gamma B_0 t/2} - i\sin\frac{\alpha}{2} e^{-i\gamma B_0 t/2} \right)$

$P_+^{(\gamma)} = |C_+^{(\gamma)}|^2 = \frac{1}{2} \left( \cos\frac{\alpha}{2} e^{-i\gamma B_0 t/2} + i\sin\frac{\alpha}{2} e^{i\gamma B_0 t/2} \right) \left( \cos\frac{\alpha}{2} e^{i\gamma B_0 t/2} - i\sin\frac{\alpha}{2} e^{-i\gamma B_0 t/2} \right)$

$= \frac{1}{2} \left( \cos^2\frac{\alpha}{2} + \sin^2\frac{\alpha}{2} + i\sin\frac{\alpha}{2}\cos\frac{\alpha}{2} (e^{i\gamma B_0 t} - e^{-i\gamma B_0 t}) \right)$

$= \frac{1}{2} \left( 1 + i\sin\frac{\alpha}{2}\cos\frac{\alpha}{2} (\cos\gamma B_0 t + i\sin\gamma B_0 t - \cos(-\gamma B_0 t) - i\sin(-\gamma B_0 t)) \right)$

*Annotation: 2i sin gamma B\_0 t*

$= \frac{1}{2} (1 - 2\sin\frac{\alpha}{2}\cos\frac{\alpha}{2}\sin\gamma B_0 t)$

$= \frac{1}{2} (1 - \sin\alpha \sin\gamma B_0 t)$

c)  $\chi_+^{(\alpha)} = \begin{pmatrix} 1 \\ 0 \end{pmatrix}$

$C_+^{(\alpha)} = (1 \ 0) \chi = \cos\frac{\alpha}{2} e^{i\gamma B_0 t/2}$

$P_+^{(\alpha)}(t) = |C_+^{(\alpha)}|^2 = \cos^2\frac{\alpha}{2} e^{-i\gamma B_0 t/2} \cos^2\frac{\alpha}{2} e^{i\gamma B_0 t/2}$

$= \cos^2\frac{\alpha}{2}$